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The graph below shows the amount of TV watched, in hours, against the number of snacks eaten, for each

of 8 high school students in a given week. What fraction of the students ate more than 5 snacks that week?

T"v i i e
E, 8+ .o
= i
m + .
£ 67 .
<
= +e
w
S 4+ .
3} L
O
S 2—r——';~ . s
z I :
A S S S
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TV watched. in hours

THERFAKES ZRTPEEBREN — AP SMUEERFBRK/ DN EESERAORZEKXER, Hh
X—FAAZK R OBEE S REFER SR RFIRILZIL? (38)

PRSI (on) o
EF-62 9 algebraic fraction %4> ; improper fraction {43 %{; invert a fraction
SK—A~ 43 B0 31 8

— [e'maunt] v. {;il
" [gra:f] n. [5 & w. HIE &L

=F-t>1 bar graph &2JE B ; cumulative graph Bit & ; line graph LRIE & ; pie
graph [BHE &, BHE K

R
L mRs3

Rafik must spend at least 4 dollars less on musi¢ than one-third of the amount he spends on clothes. If he
spends m dollars on music and ¢ dollars on clothes, which of the following inequalities could be used to deter-

mine all possible values of m and ¢?

MEREFFSLENKELERLERR EERN =02 —&V 4 ET. WRMAEFREET m T,
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TEARMR AL T ¢ o0, AP AZEX AT FRBE m Ml c BrAATBERG(EL? (3m —c+12<0)
(A)3m-c+4<0 (B)3m-c-4<0 (C)3m-c¢-12<0 (D)3m-c¢c-12=0 (E)3m-c+12<0

— [,inikwolati] n. R&ER

HX8iR:
chart [tfa:t] n. B3
pictograph [ 'piktougra:f] n. SiilE#E
denominator [ di'nomineita(r)] n. 7 £k
common denominator /343 £}
numerator ['njuimereita(r)] n. 7500451
LR

On the number line below, a, b, ¢, d, e, and f are coordinates of the indicated points. Points g and h are

not shown. If g=a +cand h=d +f, then - (g+h) =

a b ¢ dle f
o | S 1
|

| .
!
2

WEER, a, b, c, d, e Fil f 250 BRI ABRAES, brs g Ml h KRA{H. WP g=a+c, HHA=
d+f, Bu-(g+h)= . (1)

2 [keu'o:dineit] n. [EZH; h v (HRES) A e F%H
%10 coordinate axis system A2 R Z&; XY-coordinate system - [ H £ 2k FR
% ; X-coordinate X Ak #5; Y-coodinate Y AR ¥R

LRES)

If the graphs of y =ax + b and y = cx + d are parallel, then all of the following must be true EXCEPT ?
WERMLK y =ax +b Fl y =cx +d V47, P2 FHEBEE—-TREHERK? (B

(A) a=c (B) ac= -1 (c) & =1 (D) lal =/ (E) ac>0
c

['peerolel] a. 117005 FAMER; KMUHE n VA% 11000 0L, AHUY
#,ﬁﬁﬁﬁ be parallel to Y47 F

L)

The graphs of y =3x +2 and y =3x —4 in the xy-plane can intersect in at most how many points?

FEFHEABIRRT, BRy=3x+2 M y=3x-4 HEEHILITKLR? (None)

L SR
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In the rectangular coordinate plane, what is the distance between (2, 6) and (10, -9)?

EFEEALRAT, & (2,6) F1 (10, -9) ZEIKEERL D7 (17)

[plein] n. "1
m [rektaer)gjula(r)] a. H } I'U hkllﬁl £

. [dlstens] n. I
straight-line distance B £k JH &5

HXER: . ‘
axis  [mksis] m i Uk Deiees PR A
ordinate ['o:dineit] m. A5 e
vertical : ['va:tikel] a. ﬁﬁéﬁ E&é‘) n. BE n WA 7
quadrant ['kwodrent] n. &8 Wleun Yoty

LK%

If n is an odd integer greater than 9, in terms of n, what would be the smallest even integer greater than n?

MR RRKTINTH, MnliF, e RKEENMEBERSDS? (0 1)

[od] a. HEEH; WEETH; 110005 BRE, RTH
EE 1.8 odd integer 27

L RS

If r and h are positive integers and r +12 = h*, which of the following could be the value of r?

W r A RIERBOEHA r+12=4", FHMB—BATRER r ffE? ()
(A) 2 (B) 3 (C) 3 (D) 4 (E) 5

S ['intidza(r)] n. %%k
A=kl consecutive even (odd) integer FE£E{H () #; consecutive integer
HELE R ; integer part 185 B B HER

['veelju:] m. fii, #fjb] 5
: } absolute value #a 5t {H

LK%

The units digit of the sum of three consecutive integers is 8. What is the units digit of the least of these in-

tegers?
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| SRR S, AR R RS 5

[CORSOCUENE I [ coijutiv] o mam

[juinit] n. 4y

LRE>)

The product of positive integers x, y, and z is 66. If y is even, x is prime, and xy =22, which of the fol-

lowing must be true?

IERER >, y 2 BIREVR 66, SR y BE%, « BE, HHxy =22, TEH - —FREFHRBY? (1)
(A) y<x<z (B) x<z<y (C) x<y<z (D) z<x <y (E) y<z<x

m [praim] n. FF; 2 a FEH; BREFWN, F—HH; 200

EA=6-1. prime number T%k, E¥

" [ 'pozativ, 'pozitiv] a. WELH, HBE; BB, HEM; 0, Bw; +

R, EEH n (|/E) ER

K&%>

The members of set A are all the positive even factors of 24, and the members of set B are all the positive

even factors of 18. What is the probability that a number from set A is also in set B?

B A HTESMR2 WERKT, KABFHTRLWR I8 WERRT, MAKRTES A
LR TFHEA B TR GMEREL? ||

|

[iiven] ad. ¥%E, BIfF a FH; HHH, FRH; (00 v (F) F
H; (ff) H%F :
EFSRTY even integer fBH(; evenly even inteper SEFRV-AMAOMERL (HEHE 4 BEER)

faer Y (ete) n 0 v B BRET
CERS3

If x and n are integers and 9x +n is negative, what is the largest possible value for n, when x =27

AR Moo MEBBOFH 92 +n /NTFF, Ha=208, n WERKREAMERELLD? 10

LHRE>

In a list of four positive even numbers, the mean, median and mode are all equal. Which of the following

CANNOT be done to the list if the mean, median and mode are to remain equal? (B)



g8 DI 5

fE—H 4 MEBED, P, PEMRBOEERHMSE. WRFHE. PEMRBHREHEE, T3
59— A EH4 2 |

(A) Add one number to the list.

(B) Add one number to the list that is greater than the mean.

(C) Add two distinct numbers to the list.

(D) Add 2 to each number in the list.

(E) Remove the first and last numbers from the list.

L [mitn] v. BWRE; BAEEX a KEW, BalE; 00 by one f

/ g/
J o . '

gain geometric mean JL{A[ 1% ; proportional mean L, I

For even integers x greater than 2, let \x/ be defined as the product of the integers from 2 to x, inclusive.

For example, \6/=(2)(4)(6) =48. If%: \a/, what is the value of a?

¥x AT 2, A \x/ WM 2 B x OEBZBL Hlin\6/=(2)(4)(6) =48, ﬁu%%= \al,
W AU

L linkluisiv] e K, 8K

%43

For all x >0, which of the following expressions is equivalent to 7 4/x° +6?

Fix>0, FHIBAEKXRIET V2 +6 BEMEgr

(A)13+6 (B) 7/x +6 (C) Txx +6 (D) 7«° +36 (E) 49x” +36
x

i [ik'sprefan] n. [ 1

SRENVEISRETTINT [wivotont] o 1y tirs R WS, S0e, SEw

_ ., equivalent fraction Z{H 7 %%

HXER:

tantamount [‘teentoamaunt] a. Z41 1

successive - [sek'sesiv] a. FELEHY, HIZKH
simultaneously  [simel'teiniesli] ad. [Fif#

uniform = [juiniform] a. —EHAEH
halve [haiv; heev] v. 1. SF4p 0 =5 H5-oo-pl2f

factorable [feek'torebl] a. W] 4 7 1 e
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| RBRS3)

In square of WXYZ (not shown) , point V is the mid-point of side YZ and the area of the triangle XYV is

%, what is area of square WXYZ?

FEETTG WXYZ (R, VR VZ WA, SATE XY MEB R, EN WXYZ HE B

16

Bzl [

i [skwea(r)] n. i il

bW perfect square (cube) SE&FF (SLH)

[ ‘traieengl] n. fii ll

_ ['oorie] m. i

= 3-t-{.W base area JICE F; surface area 22 [H

I

xRS

In the right triangle ABC shown below, what is the slope of AB?

T B(1,2)

M4J»//// lca, n

1640 T B BT R B =T ABC i, ABRIRIERZ /7 (172)

IS (cou) )

o RR&3)

The average (arithmetic mean) of the degree measures of the angles of a rectangle is how much greater than

the average of the degree measures of angles of a triangle? (Discard the degree symbol when gridding your answer. )

BN A A AR EB L = AT ARRERFHBRE D (EMEEEERMEAENFSERE) (30)

RSN (oo o o o)



B ¥ =T

o .
Z -0 acute angle £ £ ; alternate angles 4% f; angle bisector fj 44k ;

at right angles with 5------ . H A ; central angle [H.[>ff; corresponding angles [g]
fifh, XTRLfA; exterior angle #Fff; obtuse angle £liff; straight angle £

. XRE3

In the rectangle ABCD below, if AABE is equilateral, and BC =9, what is the sum of the lengths of AE
and BE?

B C
E
A D
WP K I ABCD ", R AABE H% N =M H BC=9, 4 AE fl BE KEZ FRE

e ()

(A) 9 (B) 18 (C) 1243 (D) 183 (E) 36

I i torot) 0 @

TS

When the base and height of an isosceles right triangle are each decreased by 4, the area decreases by 72.

What is the height of the original triangle?

FEREM=AENIROMEABLD 4, BRED 72, BLFER=MAFEHERSL? (20)

I (oiosii) o 0
I o) . o s e wcn
I (1o »

HXHER:

diagonal [daisegenel] m. Xffik a. XL
equiangular [ i:kwizengjule(r)] a. MY
hypotenuse [hai'potenju:z] n. HfE —fHIEHAN

leg [leg] m. B HMEA L7090
similar ['simile(r)] a. (=) HLH

triple [tripl] a. =Ha/, =HEy; =B v. FEE=F
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supplement [‘sapliment] n. 0, fEPZAIN 180"
dimension (di’mgn;an] e Rb SR () B (iﬁ):

g inside dimension PR T ; of one dlmensmn ‘%ﬁﬁ{]
inclination | ,mklmetjan] n. RL; W, B

L KBRE3)

A circle with center O has a diameter of 2 y/2. If square KLMN is inscribed in the circle, what is the perim-
eter of AKOL?

—AEMECK 0, BN 242, WMRIEHE KLMN BUIFE 0, A4 AKOL WEK R ZL7 (2000

|
L

D [in'skraib] v. U1k RS, B, %)
: "4 be inscribed in N HET inscribed angle [R5 A

LR&S)

The distance from the center of a circular wheel to the outside of its rim is 2. 5 feet. The wheel rolls along
smooth ground without slipping at a rate of 352 revolutions per minute. What is the rate of travel in miles per

hour of a point on the outside of the rim of the wheel? (1 mile =5280 feet)

REs# TR E.OBIS A MERR 2.5 =R, B FHECH KM b LU o 352 18 B9 3 BE 51 IR
3, BRFIEEN—-REB/INKETERERZ DR (1 RE =5280 &ER) (204

' (rim] m P90 0 Y R v. BRBEee- BUE 3

B [reit] m . of; . R
EF-C- 008 at this rate DLSXRER) R/ AG/

['sa:kjula(r)] a. [ A IET

EISE W circular cylinder [& 4

LRES

In the figure below, the length of minor arc AB is —123-— and the area of the shaded region is % the area of the

entire circle. What is the radius of a circle that is 5 the area of the above circle?

A
B




e TP

IFEFR, £ AB MKERT, MEBAWERREEANERN--, BAEE N ZAEFR

> i

@M*@%zw?{pj

[ NUNTRR e
N (o) o o s WER n RREA; BIBERE v (K

i) ElE
%‘,#EEE minor arc AB I E AB

L P I
T TS

In the figure below, a square is inscribed in a circle with center O and a radius of 3. What is the perimeter

of the square?

WFEPR, EFESEOH O FEAIHENE, NMEEFEHRAKRESD?

“ [ pa'rimita(r)] n. 4 [

In the figure below, the circle has center C and diameter AB. In terms of ¢, what is the area of the circle?

3 B(d, 4¢)

Ad, 0)
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|ﬁHTEFﬁ%, Bk C, HERAB, Wl c FmnmBMER? (4o )

SRS oot n
L o xRE

A circle with center A has its center at (6, -2) and a radius of 4. Which of the following is the equation
of a line tangent to the circle of center A?

— A HEELC ARH (6, -2), ¥RE4, TEHH -TEZEMIILTE?
(A) y=3x+2 (B) y=2x+1 (C) y= —x+5 (D)y=—2‘ (E) y= -6

SRURESRRIIENE (o) n o

It

EF-t:{W be equivalent to another equation % — 7 # [d]f#; clear an equation of
factions 73 X TR ¥, K 1k ; quadratic equation K 5 F2; complete quadratic ( equa-
tion) 4 K A #2; simultaneous equations B 37 7 2 4H

I o) - o o
==t 98 curved line f4%; number line %%

| xBa3

In the figure below, O is the center of the circle. What is the measure of 2 MNO?

M——_——N

WTERR, 0 ZZBEKE.L, LMNOKERREZD? (30

NSRS (meso) . 10

S (o0

= 2-t 1.8 circle graph (chart) A& ; complete circle ©ff; concentric circle [G].(3[E

Pl s [EAEPL ] TERE, vk ov. B, Wi, 2

i it

| RRE

In the figure below, the square is internally tangent to the circle with center 0. If a side of the square has

length 2 and O is a vertex of the square, then what is the area of shaded region?



HFETT

feFE, EJIBSEOH 0 WEKY, WRAEXAEFEMAKN2, HH 0 RENHMTUL,
MAGI KR ERRE D7 84

WERSRRY (ootoks) n i xT KXW o

“ ['sento(r)] n. [0

| ['teendzent] a. U701

KPR .
formula

root

ray

right

curve

contour
perpendicular

satisfy
constitute
tangential
secant
joint
overiap
revolution
pointer
clockwise
fold
chord

L%

FIUIGY 3 BEREEY

[formjule] n. A, WKl

Cruzt, rut] m. 74 ; R

[rei] n. fizk

[rait] a. H 1

[ke:v] n. 1%k

['kontus(n] n. #BR; J&4k

[ ps:pan'dikjule(n] a. T, M

be perpendicular to & B F; perpendicular lines 3 B 2§
['seetisfail v. i i ' '
[konstitju:t] v. MR, 4R

[teen'dzenfal] a. ¥4

['sitkent] n. #%k

[dzoint] v. ¥4 n. BE4

[ suva'eep] v. WA ES

[ revelju:fan] n. fiE%

['pointa(r)] n. I54%t

[ klokwaiz] a. JETEE T EIR  ad. JBUAT 4 J5
[fould] v. Xt#r ‘
[ko:d] n. 5%

The first term in a sequence is 8. Every term after the first is obtained by multiplying the term immediate-

ly preceding it by 1 % For example, the second term is 12, because 8 x 1 A =12. What is the 4th term in the

2

11
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sequence ?

1

S Hlan, 5 WiR 12, HH8 X

BONPEH TR 8. TG KB — TR AT — T 1 5

%=n B 5 253 e 5 U 9 A 7

— ['sitkwens] n. K7, WFF, FHl; 2

EA=t-1.M infinite sequence T35 ¥ %

A

EF-E- 908 algebraic term fC( T ; like (similar) terms [E1 2530 ; unlike terms JF
[=] 24 131

R (v tipai) v 7

EF=E0W8 common multiple 2N f5%(; least (lowest) common multiple & /NAFEE

L e 1

X8
order ['o:de(r)] m. WifF; iT8
convergence : [ken've:dzens] n. £

o The

The radius and height of a right circular cylinder are decreased by 20 and 50 percent, respectively. By

what percent is the volume of the cylinder decreased?

— AN IE B #2442 58 4 F1 0 20% F150% , AR 4 B AAREBR/NE 42207 (68%)

R [ iinco)) . i
_ [dikrizs] v. W4 n yﬁll\

EF=E YW percent decrease Ji 2 I H 4 F
ﬁ?ﬂuﬂ i

The figure below is a cube. The length of each edge is 10 cm, and point I lies on side KLMN, such that is

equidistant from all 4 vertices. What is IJ in centimeters?




